
UE Bruchterme 01 4. Klasse

Löse so weit wie möglich und gib an, welche Zahlen die Variablen nicht annehmen
dürfen!

1. 1
3a−4b

− 2a−b
9a2−24ab+16b2

− a−3b
27a2−48b2

= a, b 6=?

2.
(

2y
2x+y

− y
x

)
: −2y2

4x3−xy2 = x, y 6=?

3. 4m2+4m+1
4−n2 : 4m+2

3n−6
= m,n 6=?

4. 3x−1
3x−6

− 10x+3
6x2+12x

− 3x2+7
3x2−12

= x 6=?

5.
[

2a−1
(a+1)2

− a
a2−1

]
:
[

a2−4a+1
a−1

: (a + 1)
]

=

6.
(

7b−28
4b2−36

: 3b2−24b+48
2b2+12b+18

)
· 6b−18

7
= b 6=?; Probe für b = 2

7.
(

r2

3s2 − 1
3

)
·
(

1
r
− 1

r+s

)
: 3rs−3s2

15r2 = r, s 6=?; Probe für r = 2, s = 1

8.
(

1
3x−2y

− 1
3x

)
: 4y2

27x3−12xy2 − 1 = x, y 6=?

9.
2x2

4y3−yx2

x
y
− 2x

2y+x

=

10.
y

y−1
y−1

y

− y
y−1

=

11.
1

y+1
y

y−1
+

y
y−1
1

y+1

=

12.
3

y+2
2y+4
y−2

−
y−2

y
y+2
4

=

13.
y

1−y
y

y−1
+

y
y−1
1−y
y+1

=

14.
5r
3s
− 3s

5r

5r−6s+ 9s2

5r

=

15. r
2
·

r−2
r+2

−1
r+2
r−2

+1
=

16.
r

s−2r
− r

s

4r2

s3−4r2s

− r =

17.
5r
s
− 10r

5r+2s

50r2

4s3−25r2s

− s =

LÖSUNGEN:

1. 2(3a2−ab−24b2)
3(3a−4b)2(3a+4b)

a 6= ±4
3
b

2. 2x−y
2

x, y 6= 0, y 6= ±2x

3. −3(2m+1)
2(n+2)

m 6= −1
2
, n 6= ±2

4. −x+6
6x(x2−4)

x 6= 0, x 6= ±2

5. 1
a+1

6. b+3
b−4

b 6= ±3, b 6= 4, Pr.: −5
2

7. 5r
3s2 r, s 6= 0, r 6= ±s; Pr.: 10

3

8. 3x
2y

9. 2
2y−x

10. y
(y−1)2

11. y4+2y3+2y2−2y+1
y(y2−1)

12. −5y2−6y+32
2y(y+2)2

13. −2y2+y−1
(y−1)2

14. 5r+3s
3s(5r−3s)

15. 2−r
r+2

16. s
2

17. −5r
2
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